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Statement / PY- :
11>19=18; 11 <21<22:21>23=34

Conclusion / oy

. 22 > 34

1. 23 > 19

01. If only conclusion | is true.

02. If only conclusion Il is true.

03. If either conclusion | or Il Is true.
O4. If neither conclusion | nor Il Is true.

05.

f both conclusion | and Il are true



Statement / PY :
R>O0=S:H<A=0O;N>A

Conclusion / oy

.N>S

. R >N

01. If only conclusion | is true.

02. If only conclusion Il is true.

03. If either conclusion | or Il Is true.
O4. If neither conclusion | nor Il Is true.

05.

f both conclusion | and Il are true



Statement / PY- :
11<12<13:13<14>15:16>17>11

Conclusion / oy -

|. 17<18
1I. 1817

01. If only conclusion | is true.
02. If only conclusion Il is true.
03. If either conclusion | or Il Is true.
O04. If neither conclusion I nor Il is true.
O05. If both conclusion | and Il are true




Statement / ©YH :
OnlyafewGareH/WWG H%
Some GareL/ PSS GL
SomeKareH/ P K H

Conclusion / s -

. Some K are G/ P KG gl
ll. Some L being H is a possibility / P8 L
% H B Bt T AHTGT 2 |

01. None follows

02. Only Il follows

03. Either | or Il follows
04. Only I follows

05. Both | and Il follow



Statement / YT :

No NareC/Hﬁ'st Cﬂﬁ%
OnlyOareM/W % %
OnlyafewCareO/a%IEIWC O
Conclusion / fead

. Some M being N is a Rossibility / ¥ M
% N g P Th GHTET 8 | N

Il. Some O are notC/WO,CHﬁ%I

01. None follows

02. Only Il follows

03. Either | or Il follows
04. Only | follows

05. Both | and Il follow



Statement / dY- :

Few Z are X /| & ZX &
Some Z are not V/ yAYS
All VareY/'\‘[‘l-ﬁVY
Conclusion / Ay

. Some ZareY/ Teg%
II. No Y are Z/ Y Z I
01. None follows

02. Only Il follows

03. Either | or Il follows

04. Only | follows
05. Both | and Il follow
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How many such pairs of letters are there
In the word, 'EXPRESSION' each of which
has as many letters between them in the
word as they have in the English
alphabetical series?ﬁ '%Qﬁ

Lo 'EXPRESSION' H_ 3{

oS 8, o

foaa
H 3d4
Q&hﬁﬁlﬁﬁ%mmﬂﬁmﬁ
YEATH 872

01.Three
02. None
03. Two
04. One
05. Four



The distance from point Eto point Ris 5
m towards the north. Point R is 15m
north of point G. The distance between E
and Q is 20 m, where point E is to the
west of point Q. Similarly, the distance
between points G and His 22 m, where H
IS to the West of G

Ad gﬁsrﬂ?\fﬁr\f Zﬁ}{




The distance from point Eto point Ris 5
m towards the north. Point Ris 15m
north of point G. The distance between E

and Q i1s 20 m, where
west of point Q. Simi
between points G and
IS to the west of G

noint E is to the
arly, the distance

His 22 m, where H

What is the distance between E and G?

E 3R G & did &1

01.15m
02.12 m
03.10m
04. 11 m
05.14 m

87



The distance from point Eto point Ris 5
m towards the north. Point Ris 15m
north of point G. The distance between E

and Q i1s 20 m, where
west of point Q. Simi

noint E is to the
arly, the distance

between points G and
IS to the west of G

His 22 m, where H

Q Is In which direction from point H?
fep FomT & 82

H fig I fig Q

01. NorthWest
02. South

03. East

04. South East
05. North East



Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the rlght of N
an'o'aﬂ%r K.L.M, N, O, P
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Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the right of N.
Four of the following five are alike in a certain
way. Which is the one that does not belong to
that group?

01. M
02. N
03. K
04. P
05. J



Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the right of N.
Who sits second to the right of P?

01. M
02. Q
03. N
04.J
05. None



Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the right of N.

If O and P interchanges their position, then who
among the following persons sits third to the
right of J?

01.0
02. N
03.P
04. L
05. Cannot be determined



Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the right of N.
How many persons sitting between M and O?

O01. None

02. 2

03.4

04. 3

05. None of these



Eight persons J, K, L, M, N, O, Pand Q are
sitting in a row facing South but not necessary
In the same order. All of them are sitting with
equidistance from each other. L sits at extreme
end of the row. One person sits between M and
Q, who sits second to the left of O. N and K are
Immediate neighbour of O. Either N or K sits at
extreme end of the row. Number of persons
sitting to the left of P is one less than that the
number of persons sitting to the right of N.

If all the people are seated in the alphabetical
order from right to left, how many people remain
unchanged from their original position?

01.1

02. 2

03.3

04.4

05. None



There is a certain number of persons sitting in a
row and all are facing West. Four persons sit
between R and P who is immediate left of L.
Number of persons between R and U are same
as number of persons between P and K. P is
seventh from left end. S is sixth to the right of U.
Two persons sit between U and L who is fourth
from right end. T sits to the |mmed| e% Gh'{f U.
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There is a certain number of persons sitting in a
row and all are facing West. Four persons sit
between R and P who is immediate left of L.
Number of persons between R and U are same
as number of persons between P and K. P is
seventh from left end. S is sixth to the right of U.
Two persons sit between U and L who is fourth
from right end. T sits to the immediate left of U.
Four of the following five are alike in a certain
way based on a group, find the one that does
not belong to group?

01. T

02. R

03.P

04. L

05. S



There is a certain number of persons sitting in a
row and all are facing West. Four persons sit
between R and P who is immediate left of L.
Number of persons between R and U are same
as number of persons between P and K. P is
seventh from left end. S is sixth to the right of U.
Two persons sit between U and L who is fourth
from right end. T sits to the immediate left of U.
How many persons are sitting in the row?

01. 10

02. 11

03. 15

04. 14

05. 16



There is a certain number of persons sitting in a
row and all are facing West. Four persons sit
between R and P who is immediate left of L.
Number of persons between R and U are same
as number of persons between P and K. P is
seventh from left end. S is sixth to the right of U.
Two persons sit between U and L who is fourth
from right end. T sits to the immediate left of U.
How many persons sit between T and R?

01. 3

02.4

03. 6

04. 2

05.1



Nine boxes J, K, L, M, N, O, P, Q and R are
placed one above other in the form of a stack.
Box Q is three places below Box K and four
places above Box P. Number of boxes below
Box R is as same as the number of boxes above
Box M. Only one box is placed between Box J
and Box M. Box O is placed at one of the
positions above Box J. Box N is not placed on
the bottom. Only two boxes are placed between

BoxPandJ aﬁ'\r a;
|v| N, O, P Rw W
wﬁ%wﬁ %F%’IK@IFFH
R A f&eaT
AL S W%W Ma;wmawﬁ
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Nine boxes J, K, L, M, N, O, P, Q and R are
placed one above other in the form of a stack.
Box Q is three places below Box K and four
places above Box P. Number of boxes below
Box R Is as same as the number of boxes above
Box M. Only one box is placed between Box J
and Box M. Box O is placed at one of the
positions above Box J. Box N is not placed on
the bottom. Only two boxes are placed between
Box P and J.

How many boxes are between O and N?

01.4

02.1

03. 2

04. 3

05.5



Nine boxes J, K, L, M, N, O, P, Q and R are
placed one above other in the form of a stack.
Box Q is three places below Box K and four
places above Box P. Number of boxes below
Box R is as same as the number of boxes above
Box M. Only one box is placed between Box J
and Box M. Box O is placed at one of the
positions above Box J. Box N is not placed on
the bottom. Only two boxes are placed between
Box P and J.

What is the position of Q with respect to R?

01. Immediately above

02. Two places below

03. Three places above

04. Immediately below

05. None of these



Nine boxes J, K, L, M, N, O, P, Q and R are
placed one above other in the form of a stack.
Box Q is three places below Box K and four
places above Box P. Number of boxes below
Box R is as same as the number of boxes above
Box M. Only one box is placed between Box J
and Box M. Box O is placed at one of the
positions above Box J. Box N is not placed on
the bottom. Only two boxes are placed between
Box P and J.

Which box is exactly placed between P and the
box which is immediately above J?

01. M

02. R

03. N

04. O

05. Cannot be determined



Nine boxes J, K, L, M, N, O, P, Q and R are
placed one above other in the form of a stack.
Box Q is three places below Box K and four
places above Box P. Number of boxes below
Box R is as same as the number of boxes above
Box M. Only one box is placed between Box J
and Box M. Box O is placed at one of the
positions above Box J. Box N is not placed on
the bottom. Only two boxes are placed between
Box P and J.

Which box is placed immediately above K?

01. M

02. L

03. 0

04. None

05. None of these



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

If G#L#A*B$ D then how is G related to D?
T G#L#A*BS$ T, dI G, D ¥ ¥ gaferd g?

01. Aunt

02. Uncle

03. Niece

04. Nephew

05. Cannot be determined



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

IFB% D#G % F # A then how is A related to D?

T B% D#G% F# Az, al A, D %8 9aiaqd g?
01. Grandmother

02. Grandson

03. Granddaughter

04. Grandfather

05. Cannot be determined



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

If A*B$D3G*E, then how is A related to G?

T<A*B$DSG*ESR, A A, GH HH Falad 82
01. Husband

02. Grandson

03. Granddaughter

04. Grandfather

05. Father



Each of the six friends, K, J, |, H, G and F scored
different marks in an examination. | scored more
than only K and G. H scored less than only J. G
did not score the least. The one who scored the
third highest marks scored 92 marks and G
scored 58 marks. The person who scored the
maximum marks among them scored 13 marks
mor%_t\%%m F’'s marks. ;:,ﬁ-\r A ude 3
K,J,ILH, G = Udh

gg&nﬁamamwmml A9 H9d K 3R
G I 3t TR fHATI H A PHad J | FH TR
farl G 9 999 $H TR T8 feaq| 3aldH
wmmﬁ?ﬂ@rﬁgz 3ip U fHhu 3R G = 58
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Each of the six friends, K, J, |, H, G and F scored
different marks in an examination. | scored more
than only K and G. H scored less than only J. G
did not score the least. The one who scored the
third highest marks scored 92 marks and G
scored 58 marks. The person who scored the
maximum marks among them scored 13 marks
more than F’'s marks.

Which of the following could be the possible
score of H?

01. 96

02. 106

03. 89

04. 110

05. 91



Each of the six friends, K, J, |, H, G and F scored
different marks in an examination. | scored more
than only K and G. H scored less than only J. G
did not score the least. The one who scored the
third highest marks scored 92 marks and G
scored 58 marks. The person who scored the
maximum marks among them scored 13 marks
more than F’'s marks.

Which of the following is true with respect to the
given information?

01. H’s score is definitely less than 70.

02. K scored the maximum marks.

03. Only one person scored more than I.

04. There is a possibility that J scored 79 marks.
05. None of true.



Each of the six friends, K, J, I, H, G and F scored
different marks in an examination. | scored more
than only K and G. H scored less than only J. G
did not score the least. The one who scored the
third highest marks scored 92 marks and G
scored 58 marks. The person who scored the
maximum marks among them scored 13 marks
more than F’s marks.

Which of the following could possibly be the
score of |?

01. 95

02. 94

03. 86

04. 51

05. 55






